Module 5 Coding Lab Quiz

Question 1

Mr. Brown presents to the hospital outpatient surgery department for debridement of the
acromion, subacromial bursectomy to correct a recurring dislocation of the right shoulder.

What ICD-10-CM code is reported?

M24.411

Question 2

A 40-year-old mother of four children presents for surgery to correct an anterior vaginal
wall prolapse with an incomplete uterine prolapse. What ICD-10-CM code(s) is/are

reported?

N81.2

Question 3

A 23-year-old patient presents with no menses and a positive home pregnancy test. An

ultrasound finds no uterine contents. The embryo has implanted on her left ovary and the



